HubbleLawConstantLightForce

Ode to light travel in open space

Telescope measure of redshift is a mirage.

Expansion is not real while parked in a garage.

Hubble law is about the constant force of light

And not universal expansion out of sight!.

Let c be light-pulse acceleration and speed.

Make h the mass in grams transferred with each pulse deed.

Hey! F = hc is the constant force of light in space!
Quit being dizzy with the false-expansion race!

Redshift acceptance was Einsteins’ biggest mistake
The space curvature field equation, G = 8(T where T is a complex mathematical Tensor, offered way too many solutions to Einstein’s great dismay. When Hubble offered universal redshift, Einstein saw it as offering the needed constraint on possible solutions. It tuned out to be the biggest mistake of his life that he never realized. The simpler math solution first falsely stabbed at by his cosmological constant was there sure enough, but it required that he finally figure out R in Newton’s gravity law. He got close to doing that when he challenged the range of R in the direction of small--- to derive his space curvature continuous field concept that would imply a central black hole (BH). Karl Schwarzchild improperly made the BH non-rotating--when it demanded maximum possible spin and vibration rate. The maximum spin/vibration speed of motion locates the BH--as the causal center of every gravity field, including each atom, molecule, planet, galaxy and cosmos. 

What causes the maximum spin/vibration rate of the BH? It turns out that the proper definition of “anthropic” requires that the maximum mass and energy for each gravity field center has to be 1/h-squared and 1/h respectively. This Planck relation symmetry whereby E = nhf, requires an electron constant mass of h grams, and the minimum quantum energy must be h ergs. When n is the anthropic count of electrons being frequency pulsed in parallel, one finds an Einstein underlying Universal Harmony (UH).  Let E = nhf ( Mf ( Mv2 = Einstein’s pulse-speed-generalized energy-matter relation. Since M = nh, where h is in grams, we only get to measure in terms of the electron size pulse that requires 1/h quantum in helical string tandem as the molecular size standard. 

Maxwell recognized that visible matter experiences physical reality one molecular size electron at a time but no one picked up on it! Using n as the parallel pulse count of electrons in telescope light measure, makes the Hubble constant H0 = hc. Redshift is indeed a mirage and Einstein’s corrected field equation is G = R/3v2 = (M, to define mass as a R-surface count of G size Higgs particles. Mass is then related to energy as its 3axis spin/vibration energy squared.  Much more on this theory at: 

http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc
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